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7. Given: p and g are parallel lines 10. In the figure below, where the triangle is created
LA ey B s 10. the figure below, where the inangle 18 created by
s is a transversal crossing lincs p and ¢ 3 lines that intersect at the angles indicated, the

measure of angle ¢ ="

o, m, and n are angles
‘ . mtn= 230° -
What is the measure of angle o below?

A. 25°
B. 65°
¢ 11y
D. 130°
E. 140°

12. For all real numbers x and y, (x—3y)° =7 24. If % - M% is true. then x =?

A. 25-6y xV7 _ |
B. x°—6xy+9y A. 49
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7. Given: p and g are parallel lines
5 is a transversal crossing lines p and g
o, m, and n are angles
my b= 230°

What is the measure of angle o below? _EE%K_,\_
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10. In the figure below, where the triangle is created by
3 lines that intersect at the angles indicated, the
measure of angle ¢ =7

. 45°
. 65°
70°
L1107

N\N = %5 +70
= /57

12. For all real numbers x and y, (x-3p)* =1

24, ?

is true, then x =
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